6 omam@omdgdol Lob{®ogol dgggoligds

6.1  gubjaosms bApol Moyo

asbgobognmm Mo ubios: f1(n) = n? s f2(n) = 100-n,n > 0. Gbseos, @™ f2(n) > fi(n), 00 < n < 100. Jop@od
o n > 100, 35306 f1(n) > fa(n). glg 00, ©5F4g09e0 Go@oid Swyomowsh, f1(n) > fa(n) (bsb. 30 Js@bbog). sbigm
‘39dnbg9399do - HmELs3 ©sFYgoYEo Moz dERomOoEsb ghmo }ybzool 8b0dgbgemds ymggmmgol skomdgdl
dgmdg gabdiool dglsdsdols 360Tgbgermdsls - 588096, Gmd fi gubjzos 9ROm LYMsgse 0bGEgds, goayg fa.
3530@0050, f1(n) = n YgOm LYGsgs0 0bB©gds, gody f2(n) = logn (o] @s dgdwamdTo logn = log, n, Inn = log, n
s lgn =log o n).

gb03gbs: o o I9damddo gobbogrymo ¥9b(30900 wowgdboMos.

) = n*
1 cf_,(ru

Sy = 1000 1y )

100 n

bob. 30: M@0 g9bzoob a®sgo g0

Logotxodm 6.1: fi(n) s fa(n) g9b6d3ogdl dm@ols @mIgeo 0b@©gds 9a0m LfOsgswe? (3sbybo oo 03 m)

L fi(n) = 10-n?, oy fa(n) = 15-n2% 2. fi(n) = 0.1 -n2, o9 fa(n) = n; 3. fi(n) = 10° - logn, o9 fa(n) = n; 4.
fi(n) =10 -logn?, o9 f2(n) =20 -logn; 5. fi(n) = 2", o9 fao(n) = 1510 . n'.

Logo®x0dm 6.2: ©osd@gocgm, HmI fi1(n) gubdaos 9a0m LfMsgse 0b®OEgds, gody fa(n), o

L fi(n) =n?, fa(n) = 15-n-logn; 2. fi(n) = n3, fa(n) = 1983-n; 3. f1(n) = logn, f2(n) = 10loglogn; 4. f1(n) = logn?,
fa(n) = 100y/Iogn; 5. fi(n) = n, fa(n) =log" n.

2580bsm 3090 ,,05Fggd g0 Mo@s3s syomosh fi 9blool 360dgbgarmds gmggamgol oskomdgdl f2 gubjiools
gLododols 360365 mdsls” Fomgdo@ogamom gdwgabsodow hsofg@gds: Ing € N, Vn > ng, fi(n) > fa(n).

07 Im39992005 ™G0 g1bJGos fi1(n), f2(n) s e € N oligmo, Hm38 ©sFygd o Gomeis syoeo©sh fi(n) < ¢ fa(n),
35d0b 53dmdgb, ®™3 fi(n) g1bJEool sLod3GMENG0 OOl Goao 5O s®gdsdgds f2(n) gybjaool sLod3GmEy®o
bAwols Moyl

59 ‘dgdobgggedo sp@gmgg 530mdgb, dm3 fi Bybool bHwol Goyo bgdmesbss ‘Igdmbebwgdyaro fo gubjiools
bOols Goyom, 5byy fo 539600l AL Mogo f1 ¥9blEool Al Mool bgws bmgs®os.

dogomoms, oy fi(n) = 10-n s fa(n) = n, fi(n) gybdiool sLoddGmEmy®o bOwols Gogo 5@ sgdsgds fa(n)
3964300l sbod3Gm@g®o ool Goal, Goeash Jc =11 s fi(n) =10-n < c- fo(n) =11-n.

SL0d3@mG Yo bAwol Moao 330hg96gol, ,,ssbgnmgdom s LobFHog00” 0bMEgds dmzgdymo }ybizos. by
3530@00T0 ga39dem 53039 ©oa397g0s: Je =1 o ¢ fi(n) = 10-n > fa(n) = n. by Gm3, goo Fgdmbgggsdo
fi(n) g9bdiool sbod3dm@g®mo bOwol Gogo 5@ swgdsdgds f2(n) Fubjaool sLod3GmEudo bewol Moal, dgmey
‘dgdmbgggsdo o Jo@odom. sligm ML 0¢ygz056, MM 53 GO gb300l sbodIGMEGHYHo bOOl Moyo FHmaos, 5b%
M@039 »Essbenmgdom gomo LolfMmsgomn 0b@Egds”. My InEgdnmos m@o gubjaos fi(n), f2(n) s 3¢ € N oligmo,
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03 oFYgdumo Homeis sa0mo©sb f1(n) < ¢ fa(n), dsg®sd Ad € N oligmo, Hm8 ©ofggdymo Gomois sa0e0©sb
fa(n) < d- fi(n), 85806 53dmdgb, H™MI fa(n) gybJ300L sLOI3BMEYGO bHEOL Mogo 9RO swogos, goe®y fi(n)
396300l sbod3EmE Mo BOols Gogo. bowos, Gmd 0y fi(n) s fa(n) Fubdcogdol sLod3Gm@Ey@o bowols Goyo
Bm@os, dgode gds sliggg omdgol, Gmd fi(n) gubjiool sbod3GmEgmo ool Goyo > swgds@gds fa(n) Gybliools
oL0d3BmEYH0 bOwols Gogl (Lo JoGoom).

J399m0 Imygsbognos 3b®oano, Mmdgano Msdmegbody 939b]00l bl Mmoals yg0hg9690L.

’n H logn\n \n~logn \nz \2" \n! ‘
10 3 10 30 100 | 1.024 3.628.800
20 4 20 80 400 | 1.048.576 > 1015
30 5 30 150 900 | 1.073.741.824
40 5 40 200 1600 | 1.099.511.627.776
50 6 50 300 2500 | >10%°
100 7 100 700 10* | >10%

1.000 10 1000 10.000 106
10.000 13 10.000 130.000 108
100.000 17 100.000 1.700.000 100
1.000.000 20 1.000.000 20.000.000 10'2
10.000.000 23 10.000.000 230.000.000 104
100.000.000 27 100.000.000 | 2.700.000.000 | 10'°
1.000.000.000 || 30 1.000.000.000 | 30.000.000.000 | 10'8

OMAm03 gbgrogm, 53 gybdiosms dmmols yggmstby bgans f(n) = logn gubdios 0bO©Yds, yggesdy bLYGogsw
30 f(n) = nl. 53 dmem 396J300L 3b0dgbgermds n = 20 -mgol (339 do0sb OEOS - MMAMA(3 oMM,
2100 — 1(y30 hggbl Lodgs®mTo s@ligdaemo s@mIgdols Hom©gbmdsls s0gds@gds s, sdgosb asdmdpobsty, 1015 dognosb
oo Moibgos.

Logo®x0dm 6.3: ©o0d@30Ggm, Gm3 fi(n) = 10n? s fo(n) = 1076 - n? gubcosms sLod3dm@mmo bewols Gogo
B0,

Logo®x0dm 6.4: Gmaos 07 s@s dg8gao m@o g1bJiool sLod3GmE®o ool Moo (3sbybgdo ©osdHoEgM):

L fi(n) = n?, fa(n) = 15-n? - loglogn; 2. fi(n) = logn®, fo(n) = 1983 -n; 3. fi(n) = log®n, fo(n) = 10logn; 4.
fi(n) =logn?, fa(n) = 100y/Togn; 5. fi(n) =n, fo(n) = loglog” n.

bob. 31 g30hg9690L Bodmwgbody B9bJ00l bOwol LolfMsxgl, Lsowsbsi dgodargds domo sLod3GmEumo bowols
020l ©sbobgs. yggeroby bgers 0bBEYds @mys@omdygamo iubdios f(n) = logn; d9dwgaos FOBogo gubjios
f(n) = n. by LYGog00 0bBpgds ubdios n - logn s yggensbyg wowo bOwol Gogo ogl f(n) = 2™ iybliosb.

Logotxodm 6.5: f1(n) s fa(n) g96d30gdl dm@ols @mdenols sLod3GmE@o bOwols Gogos 9@O® Jomsogro?

L. fi(n) =log®n, fa(n) = /n; 2. fi(n) = n?, fo(n) = 1983 -n2; 3. fi(n) = n-logn, fo(n) = 2°8™; 4. fi(n) = n?-logn,
fa(n) = n?; 5. fl() In, fa(n) = (loglogn)’.

09 Imzgdg@os G003y Bubdiaos f(n), Jgagodeos asdmggmm ygges 08 gobdiosms Lod@sgag O(f(n)) (0gombgds:
mM-©owo f(n)), GBmdgmms sbod3GmEgmo bOwols Gogo 53 f(n) g9bjcaool bAwol Moal o@ swgdsdgos (sby o3 bod-
Mogen g'do ‘dgdogoao ggges B9bos 83 §9bJ300L ,,J390s bEge®os” - sFygdnmo Momsis sE00Esb ymggamngol
9RO bogegdo 0gbgos):

O(f(n)) = {g(n)|Fno,c € N,Vn > ng, c- f(n) > g(n)}.

gbowos, @M O(f(n)) Lod@ogarg YlsbOgmmems, sdo@dmd dob'do gdogemo gggens B9bJiool s8mFgms ‘dgudargdg-
0o, dog@od Iglsdangdgaros o8 bodMogergdo dgdsgogro Godmgbodg ¢9bdiool dsgsmmomols dmygeba:
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iy =27 fin) = n log(n)

ftn) =n

Jm) = log(n)

bob. 31: Gsdmegbody B9biool yMsgozo

o9 f(n) =n, 35806 g(n) = 100 - n € O(f(n)), Gopasb Ic =101 s ¢- f(n) =101-n > 100 -n = g(n).
sbsgomgom@a ga50d@0s ©og5d@Jomm: 100n € O(n -logn), 700n € O(n?), 200n? € O(27).

Lago®x0dm 6.6: ssd@gocgm, ®md 100n € O(n - logn), 700n € O(n?), 200n* € O(2").
Logo®x0dm 6.7: dmoyggebgm O(nlogn) Lod@sgeol 5 gengdgb@o.

@gds 6.1: 0% f1(n) gubJcos 5@ 0bOEYds YBGm LFGsgsw©, goway fa(n) @ubjios, 35Tob O(fi(n)) C O(f2(n)).

53} 303905 Moy5b f1(n) §9bJE0s o5& 0bAPYds YBOm™ LY Gsxsw, gopedy f2(n) ¥ybiios, sdo@md 3d € N, fi(n) <
d - fa(n). sbens aobgobogmm bgdobdog@o g(n) € O(f1(n)). 3obdodm@gdols msbsbdsw Je € N, g(n) < ¢+ f1(n). bgdmm
dmyggobogo gAm@mdol mobsbdsw, g(n) < c¢-d- fa(n). gbg opo, 3d - ¢ € N obgmo, ®®3 g(n) < c-d- fa(n), GoG
256353 9d0b mobsbdsw 60dbogl, @md g(n) € O(fa(n)).

Q.E.D.

5Jgeb 2odmdpobodyg, asdmbom]gedo ,,f1 BbJ3os o® 0bOPIds YBOM LfBegse, godg fo Bublios” dgdwgyo
3009doBog9@0 BsboFgmols Gmaaaslos: O(fi(n)) C O(f2(n)).

bogo®x0dm 6.8: 3moygebgm fi(n) ©s fa(n) }ublEogools dsysmomngdo, mmdgemmsmgolsi O(fi(n)) C O(f2(n)) wo,
sdogramgmse, O(fi(n)) # O(f2(n)).

@gds 6.2: O(f(n)) LodBogmggdolbomgols k9B3sGodos:
L O(k- f(n)) = O(f(n)) (k € N);
2. O(f(n) + k) = O(f(n)) (k € N);
3. o O(f1(n)) C O(f2(n)), 35306 O(f1(n) + f2(n)) = O(f2(n)).

©536 303 g0o:

L o9y gohggbgdm, mmd O(k - f(n)) C O(f(n)) s O(k- f(n)) D O(f(n)), Bmemds ©53@ 0G0,

asbgobogomm bgdolidog@o g(n) € Ok - f(n)). gobdsdBgdol msbobdoe Jc € N obgmo, ®md g(n) < c¢- k- f(n)
(M50356 k bo@ o ®os). gl 3o 3563 gools msbsbdow 0dsl 60bogl, ®md g(n) € O(f(n)): Ic-k € N oligmo, Hm3
g(n) <c-k-fn).

sbans 30 aobgoboanmm bgdoldog@o g(n) € O(f(n)). gobds®dBgdols msboblow 3d € N obgmo, ®m3d d - f(n) > g(n).
09 9AmEemdols m@ogg dbodgl aog5800gargdm k Moicbgdy, dogogdo k- d - f(n) > k- g(n) > g(n) (Gowasb k € N).
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>J90b go8mBwobsyg, 3d € N obgmo, Gm8 d - (k- f(n)) > g(n). gbg oo, g(n) € O(k - f(n)) (O(k - f(n)) LodBsgeols
256350950l 05bsbdsw).
Q.E.D.

Logo®x0dm 6.9: 533303900 bgdmm dmygsbogno @gdols 93-2-g ©s 8g-3-9 396 gd0.

sbogmgo@oe dgodengds bgdolidog@o f(n) ¢9bdi00l bowol Goyol Jggos brgsdo (mdgys-mowo f(n)) aobgde®-
Bemo:
Q(f(n)) ={g(n)[f(n) € O(g(n))}.
9L yg905 08 gbjiosms Lod@sge gs, @mdgmms sLod3Gm@Eao bawols @ogo f(n) gubdiool sbod3dm@y@o bawols
03Dy bogangdo Moo,

Logo®y0dm 6.10: ©osd@goGgm, Gemd fi(n) = 10n? s fa(n) = 107n? gubjgooms bl Gogols Jagos brgsdo
G000,

bogo®x0dm 6.11: Gognos o) >s6s 9390 m®o gbJicool sLod3Gm@yndo ool Moaol Jggos bmgamo? (3sbypbgdo
©053()0G0):

L fi(n) = n?, fa(n) = 15-n? - loglogn; 2. fi(n) = logn?®, fa(n) = 1983 - n; 3. fi(n) = log®n, fo(n) = 10logn; 4.
fi(n) =logn?, fa(n) = 100y/Togn; 5. fi(n) =n, fo(n) =loglog” n.

Logo®axodm 6.12: ©ssd@goGgm, ®md n-logn € Q(100n), n? € Q(100n), 2" € Q(100n).

Logo®x0dm 6.13: Bmoygebgm Q(logn) Loddsgmols 5 gangdgb@o.

Logo®x0dm 6.14: ©553H 303 m, G 0 f1(n) @ubiaos s@ 0bOEads 9R0m LFsgsw, gy f2(n) gublios, ds8ob
Q(f2(n)) € Q(f1(n)).

bogo®x0dem 6.15: dmoygsbgo f1(n) ©s fa(n) 69bd3ogdol dsys@omgdo, Gmdgmmsmngolsi Q(f1(n)) C Q(f2(n)) w©s,
S3ogredmgmee, Q(f1(n)) # A f2(n))-

6.2  Saamomdgdol doxgdol Gomegbmbdols dgaslbgds

asbgobogomm Jgdpgao sdmsbs:
dm39dge00s: Mo3bggdols J0dgz@mods ar, az, ..., an € N s ©sds@gdomn gomo @oizbgo b € N,
M »30” b L0057
Vybmnoge: .g0” 35806 ©> Fbogmee 35806, o Ji €N, 1 <i<n, a; =b.

bbgo Lodyggdom ™3 gondgom, seoam@ondo sagbl, dmodgdbgds me 5@ aq, ..., an 3030 3EMdsTo ghmo doobg
®o@bgo a; = b.

J399m0 Jmygsbognos @g3a0Loygmo sgoam@ondo, Gmdganoz 58 sdmsbsl blbols:

samcomdo K (a1, as, ..., an, )
L. 09y 3080gg00ds a1, az, ..., an 39y 5@, WodLEY ,,0M” s sEaMm@OMIo WosliB D yg;

2. a1 =b ©odgdwyg ,,30” S seram@omdo sslitay;
3. hos@oty semaym@omdo K(as, ..., an, b).

3obgobognmo 53 seoam@omdols doxgdo Lofyol 3mbsgdgdby ar = 3,a2 = 7,a3 = 0,a4 = 8,b = 2.
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1.

10.
11.
12.
13.

2
3
4
5.
6
7
8
9

senamcomdo K(3,7,0,8,2) (] a1 =3,a2 =7,a3 =0,a4 = 8,b =2).

09 3030930008 a1, ag, ..., @y dgBeIlyEno 5@, PG ,,5M5” @S dSEaMM0mdo PssLHEY; (gl o LEO e ds)

C 09 ar = b ©od9kg ,,30” 5 sSEram0mdo PssliBYg; (91 oG LB gds)
. K(7,0,8,2) (6] a1 =T7,a2 =0,a3 =8,b=2).

. 09 3030ggM0M0s a1, a2, ..., @n dJBILYED0 5GBS, Wb ,0MS” S dSEAMM0;mdo PssLH I Y; (gl 0@ LAY Egds)

09 a1 = b od9d©y ,,30” ©s seam®omdo aslByg; (91 o LAY gds)

. K(0,8,2) (5] a1 = 0,a2 = 8,b = 2).
. 09 3030ggaMos a1, az, ..., @n 'dglYeno 5G5S, Wby ,,0M5” @S SEAMMo;mdo PsSLEYErY; (gl 0@ LB Egds)

C g ar =b ©odgkg ,,307 5 SEram®00do PaslMYy; (91 5@ LEYergds)
- K(8,2) (s a1 =8,b=2).

04) J03 3000 a1, a2, ..., Gn FGIILYE0 505, odgk©y ,,005” s SEYMMOMI0 PSSO g; (91 5O LA e gds)
09y a1 = b od9d©yg ,,30” ©S senam@omdo oSG g; (91 5@ LOyEyds)

K(2) (5§ a1, a2, ..., an 30809360005 (35609e000).

04y 8030 93OMds a1, az, ..., an gL 5@, ©569k0Y ,,0M5” s SEAMAM0:T0 PSSLOYY; (91 LEO Y S)

dop 58 04 sdm30bol LaFgolio dmbsigdgdos a1 = 3,a2 = 7,a3 = 0,a4 = 8,b = 3, 35T0b sengym@omndols Abgergenmds
‘J99© g 6060 0dbgdmws:

1.
2.

senamcomdo K(3,7,0,8,3) (5] a1 =3,a2 =7,a3 =0,a4 = 8,b = 3).
09 30309300 a1, az, ..., @y dgBeIlyEno 5Mos, PG ,,5M5” @S dSEaMM0mdo PssLHEY; (gl 5@ LEO e ds)

0y a1 = b od94©y ,,30” ©s senam@omdo asliByeyg; (91 LEergds)

53 353500m0056 Hobls, B3 seoam@omdgdols dox 9dol Momgbmds sdmoogdyeros dols dmbszgdms Momgbmdsls
©> mgommb 3mbszgdms 360dgbgenmdgdby.

2obslibgeggdgb doxgdol dggsbgdols bsd dgdmbgggsls:

o 9o09bo dg8mbgggols sboeobl (worst-case), oby) 3oJlodyd Modwgbo doxo oa3koMEYds 58 sdmsbol goms-

Lok gans, 35doboz 3o, Gmegbsi yggersby ,,39wo” dmbszgdgdo d9dmagogs?

o Logggmgbem dgdmbgggol obognobl (best-case), 5bg) d0bodyd Msdwgbo doxo Wsy3koMEYds o3 sdmEsbol yowe-

bodk@gans©, Gmeglag 4ggeesby ,.3o030” 8mbszgdgdo dgdmagogs?

o Lodyo@m Jgdnbgggol sboenobls (average-case), sby Lodyomme Godwgbo doxo sagko®Mogds 53 sdmzsbols

aooliok®ganso?

o300 obsbobos, MM hggbli byws 5dm3ebsdo seam@omdo n 4+ 1 Jmbogdol wodydoggosl (n gargdgb@osbo
doliogdo Gomoie b Boibgol 3mgbsls) dodbodyd n doxbs s 3060393 1 dox s Imsbpmdgdl.

bogoMmx0dm 6.16: @sodB 30390 bgdmm dmygsbogro yodmbsmgsdo.

Lbgs Lodygggdom Gm3 godgom, gomglio d98mbgggol sbognobols dgpgasw dowgdymo gubiios f(n) ag990bgds, dGm3
W1 (3000 dmboigdobsmgol dmgdygeo seam@omdol doxgdol GomE bmds s@obmgl o@ aosskomdgols f(n) gyb-

J0517, beagoer Laggg9@ gl dgdmbgggols sbogrobol gogyew dowgdemo ¢9bdios 3o 33996bgos, MM ,,dmzgdsemo
sena@omdols dox gool Momwgbmds gg@malmegls 39® 04bgds o3 g9bdz0obg bogangdo”.

53 d99bgds aodmmgenol Lo Igoem Mmol sy gbsl, gl 30miglo 3smgds@oga® LEsEobGogol gdgs®gds ©s 3
390Ldo Bobs o6 gobgobognsgom.
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3bowos, MM n 3mbo39dol wsd4doggdol s Jlodsena@o ws Jobodogry®o MM dmbszgdms MomEybmdols (3gerogng-

dobmsb goms 03gengds, 569 gl ool gybos, GMBgaoz odmowgdymos n € N 3garsby. figgbl bgos dopsen-
0mdo dox gdols JsJlodsgny@mo MomEgbmdss fi1(n) = n, bogom dobodogy@o go fa(n) = 1.

25630b0gmm SeEpam@0m80, H™3gEoi n o0 3mbsgdols sdydoggdsl dslodyd f(n) doxl sbpmdgol, bowm 1
300l ©539 355900l o 1079 Fadl obomdgdl.

Jagdme dmggsboano b@oao, Lowsi Fo@dmwygbognos f(n) 39633001 Godmwgody dsgomomo. dobdo bohiggbgoos,
doJbodyd @sdgh bobls Imsbmdgdl gl sepam@omdo n 3mbszgdol wodydeggdsl. od Ebdogdo lus = 10— 79,
Ims = 1073 §8 (1us ogombgds: 1 dog@em §odo, 1ms ogombgds: 1 dogoo Fodo.

[ n [ f(n)=logn | f(n)=n] f(n)=n-logn | f(n)=n® | f(n) =2" | n! ‘
10 0,003 s 0,01 us 0,033 us 0,1 us 1 us 3,63 ms
20 0,004 us 0,02 us 0,086 s 04 us 1ms 77,1 {900
30 0,005 ps 0,03 us 0,147 ps 09 us 1ya 8,4x101° Fge0o
40 0,005 ps 0,04 us 0,213 us 1,6 us 183 o
50 0,006 s 0,05 ps 0,282 us 2,5 us 13 oy
100 0,007 ps 0,1 pus 0,644 ps 10 us 4x10™3 {gano
1.000 0,010 us 1 us 9,966 s I ms
10.000 0,013 pus 10 ps 130 s 100 ms
100.000 0,017 ps 9,10 ms 1,67 ms 10 {9
1.000.000 0,020 s I ms 19,93 ms 16.7 Go
10.000.000 0,023 us 0,01 3 0,23 {4 L16 comg
100.000.000 0,027 ps 0,13 2,66 4 115,7 oy
1.000.000.000 || 0,03 us 1y3a 299 \d 31,7 {900

o3 3b@o@osh hobl, @™ 0y seym®omdols dox 9ol Bomgbmdss f(n) = n-logn sb Yg®mm byws bH©sw©oO ¢346-
J305, 35306 Jolio godmmgmgdo bsgdomo LYGg0 0d6gds. me f(n) = n?, yodmmgmgdo LYGse0 0dbgds @osbgmgdon
50.000.000 gengdgb@edwg. dopa@sd my f(n) = 27, sbigmo seogm@omdo 3Mo]B0go80 gg& 3odmoygbgds 53-bg 8g@0 dmbs-
990 Lsmgol. m9) seam@omdols bgos bergs@os f(n) = n!, 35ob 0go 3G ognmow bsgPnme 396 g5dmoygbgds.
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